& AR E A A

20138 & =04k LEHSIH MU ~
M DM
=R e In =T AR
SHelr WSHAMNA ALY (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
i PE=gns 15,307,979 21,860,613 A6,552,634
= 73,800
& 200,000
J| 108,176
& 40,862
< 43,345
Al 14,841,796
SNWEUHA S 8,091,188 7,874,940 216,248
WEHHNE A 8,091,188 7,874,940 216,248
WEZHEX 4,048,200 4,048,700 A 500
201 Let24d] 2,700 2,700 0
01 At 22/l 2,700 2,700 0
w2 Bt~ E H| 2,000
Ou=dH PRFA AMRESH
2,000,000& 2,000
m2I+= 700
OANMA NEIHEEZSHAARE A& 3
o 4 ¢ 70,0003 x5 #23] 700
202 O4dl 500 1,000 A 500
01 SLHOYI 500 1,000 A 500
WOSAHXE d2F 500,000& 500
307 gl2tol & 3,000 3,000 0
03 MElHHEXS 3,000 3,000 0
mELN=SE ?AS dFSRL2 HMXE s X
2 3,000,000& 3,000
308 AHAIEHHSOIA 4,042,000 4,042,000 0
06 WSII20UHEt2x= 4,042,000 4,042,000 0
wWN=s3H 223 4,000,000,000& 4,000,000
WAE RIS Ds3H X 42,000,000 42,000
stugAlAZHl K& 4,042,988 3,826,240 216,748
308 XtXIEHHSOIA 4,042,988 3,826,240 216,748
06 I 20U EES 4,042,988 3,826,240 216,748
mRaSAH XA 3,548,036,000& 3,548,036
mstnga ASH X 494,952,000 494,952
EMN=ESIIY 861,300 846,780 14,520
EMNSI|IBHEY 861,300 846,780 14,520
2ooExd 29 796,000 792,980 3,020
307 izl & 796,000 786,000 10,000
05 RIZHRIE 3 796,000 786,000 10,000
mI00tS /& 294l 796,000,000& 796,000




2N WEANSI
HE: BMDSHIEY
el BMDSIIBEY CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@i HRE2
ZMEES & H3XM 65,300 53,800 11,500
201 LBt 9 ]| 15,000 15,000 0
01 AP 22| H| 15,000 15,000 0]
(m] 2 B4 2 H| 15,000
OACIXXINE 29 AI22E 15,000,000 15,000
202 o4 | 500 1,000 A 500
01 2L HI 500 1,000 A 500
mAIQIXXICHE SR2FX 500,000 500
301 et A= 2,800 2,800 0
10 HALAHI 2 &2 2,800 2,800 0
WAIIKIXI S AX BOHSAD
200,000 x143] 2,800
307 giztol A 45,000 35,000 10,000
05 QIZtR ES 45,000 35,000 10,000
WA XXICHE 9 E2HH| 3,000,000& *153] 45,000
405 XHA&HF S HI 2,000 0 2,000
01 AL E B F S| 2,000 0 2,000
m2A 003 ME 72 2,000,000 ~1CH 2,000
SN IZCE = 746,869 934,070 N 187,201
= 73,800
= 40,862
= 5,000
Al 627,207
SECAS B ¥ 29 746,869 934,070 A 187,201
= 73,800
= 40,862
= 5,000
Al 627,207
CA3 2K 191,800 192,910 A1,110
= 45,000
= 40,862
Al 105,938
307 2Iz2t0| & 51,800 52,000 A 200
= 20,431
Al 31,369
02 QIZ2tA3 A X 50,000 50,000 0
mE2SCAH2 2MHFPH NS 50,000,000 50,000
=2 20,431
Al 29,569
03 Al3lSHHE X2 1,800 2,000 A 200
mOSIO|ZHAICIHAD HHMXE &= K&
1,800,000 1,800
308 XAHXIGHHMSO0l& 10,000 50,000 A 40,000




2N
X ZH -
L= B

el

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 1,000
Al 9,000
06 I 20U EXS 10,000 50,000 240,000
WHHRSXAE 4% SHZ FA2LY N
10,000, 000& 10,000
= 1,000
Al 9,000
402 RI2EXt20l ™ 90,000 90,910 A910
= 45,000
Al 45,000
01 RIZERI 22X 90,000 90,910 A910
mAE2EM2 ZEAY 90,000, 000& 90,000
2 45,000
Al 45,000
405 XHobF S HI 40,000 0 40,000
=2 19,431
Al 20,569
02 =M=l 40,000 0 40,000
WAEENZ BN 7Y 40,000,0008! 40,000
= 19,431
Al 20,569
SAEBEAMZ 10,000 10,000 0
< 5,000
Al 5,000
201 -4l 8,000 6,000 2,000
= 4,000
Al 4,000
03 &Ar2 I 8,000 6,000 2,000
WEAEEAMY HA2SE 8,000,000 8,000
< 4,000
Al 4,000
308 MtXIEHSOIH 2,000 4,000 A 2,000
= 1,000
Al 1,000
06 WSII20UHet2x= 2,000 4,000 A 2,000
WMHHRSINAE A8 TH2 SAEEAH
A& 2,000,000& 2,000
< 1,000
Al 1,000
SSTM22NZ2AUAT2 S 57,600 38,400 19,200
= 28,800
Al 28,800
307 21201 A 57,600 38,400 19,200
= 28,800
Al 28,800
02 22t a2 X 57,600 38,400 19,200




A DAY
B ShoTelEE
Sel ZBEAMT HE Y 29 (S &2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
mESE A2 OHEAIZE HE 57,600,000& 57,600
= 28,800
Al 28,800
ANEEH2 29 487,469 692,760 AN 205,291
101 @121l 40,993 160,760 N 119,767
04 JIZtH2ZXNEE S 40,993 160,760 AN 119,767
mMAEEAS 28 X 40,993
oogY 39,2603 *3Y »223 26,265
oORssLdY 39,2603 *1.5%3H x52 9,187
OEXNSSE I 39,2603 x3Y x7 825
o40) R = 36,276,240& *13% 4,716
201 LBEt2 Y| 276,560 342,000 A 65,440
01 At 22l Yl 166,460 240,000 ANT3,540
(w2 B2 H| 161,420
OANBEAZ X22 =22 30,120,000& 30,120
OANEB A THNES, EH S ARZE2EHI
51,800,000& 51,800
OANEBE A2 HA2HA SZHl 23,500,000 23,500
O AMZSAIIE L RFID TAG 2 &)
26,000,000& 26,000
O&INZHE 428 &L A2 204
30,000,000& 30,000
w2 | 7,000 x4H x5« 128 5,040
02 332494l 89,100 102,000 A 12,900
m=322 % XA 62,100
oHdIIR2, & o3, RS S
62,100,000& 62,100
m Al & & H| S X Y] 27,000
O M2 Ald, &BHl RAX4l 8,000,000& 8,000
oOdatTE 2] RAH 19,000,000& 19,000
03 A2 H H 21,000 0 21,000
mEM2D SHole 238 Y 6,000,000& 6,000
mMAEEAZ T8 29 2AIE
5,000, 000& *3x2 15,000
301 Bt A= 2,000 30,000 A 28,000
10 HALAIHI B A2 2,000 0 2,000
mEN2 XANFSAA &5 24
10,000& *20H 103 2,000
401 Al HI L 2 THHI 16,000 0 16,000
01 A& HI 16,000 0 16,000
mESTI T A2 22 S SA 16,000,000& 16,000
405 XH&HF SHI 151,916 100,000 51,916




25 DEHEH
Bu: SMoITeEE
S TN HE 2 29 CERED
S E B (3H) - By O Ak o8 ﬁlf& HD=2
01 JHAHE 2 Z 5 S H 21,916 0 21,916
mAEEAS 28 22 21,916
O=2A| 2¢ 3,500,000& = 1CH 3,500
O=Z2AILE 2D F# 836,000& = 1CH 836
OSHBIAES 23 2y
2,350,000& 2,350
O & X 20| 1,100,000& 1,100
OAESX} 1,680,000 1,680
O AN Bt S 2,000,000& 2,000
OANSZ0lH 2,350,000 2,350
OL-E= 1,100, 000& *1CH 1,100
OAIR A Hol=2 ¥ 2! 2,000,000& 2,000
OMII & 5,000,000& 5,000
02 & A7 130,000 100,000 30,000
mMAIEENZ TP 130,000, 000& 130,000
HEXE 2,588,932 4,351,383 N 1,762,451
Dl 108,176
== 38,345
Al 2,442 411
HMEXE 1,095,876 2,871,876 A 1,776,000
M=EM X3 149,876 146,876 3,000
202 04 d| 1,000 1,000 0
01 2L Y] 1,000 1,000 0
mAE MHAF XA 1,000,000 1,000
203 ¥R =&XH| 1,000 1,000 0
03 Al ZH =X R = XIH| 1,000 1,000 0
myEHMEYE R= 40,0003 x5H x53] 1,000
307 212t0| & 147,876 144,876 3,000
02 AAFNHNE X 147,876 144,876 3,000
mMAMAMZE AR QIAH| (AIR =&,
2HAE) 95,076,000 95,076
mMAMAIM=ZE AR = 8,000,000 8,000
WAHHAIMES AIRA 2sE) dUs
16,000,000& 16,000
m=3 33X =< 28,800,000& 28,800
M =FSAF JH=E 462,000 272,000 190,000
201 2et2 Y| 30,000 30,000 0
01 At 22l ] 5,000 5,000 0
(m B2 H| 5,000
OA%Z MSHA = SN BN
5,000,000& 5,000




M DM
g s
©el: MSAE (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
03 &AL2 I 25,000 25,000 0
mAE MSSEA EE2E2 ME 25,000,000& 25,000
307 21201 A 382,000 222,000 160,000
04 QIZHHALE & 382,000 222,000 160,000
EAMAIEI &= 3= HFl
40,000,000 40,000
wWHSs ESE SHRAHA OHE 35,000,000 35,000
mA s 2 A O 7,000,000& 7,000
EMHMAIZE =2 & -0 SFAEE IS
N = 60,000,000 60,000
WAMAIZH &2elS0F2Hal Izl
15,000,000& 15,000
X132 oHLZEHEW 8= QLEWUHE MHA
170,000,000 170,000
KA = - Sstd WS =
30,000,000 30,000
mMHMAIN S ZH d=HAAZX FI|3E
N = 15,000, 000& 15,000
mAE A2 HAHA M F 10,000,000& 10,000
308 AHAIEHHSOIA 30,000 0 30,000
06 WSII20Het2x= 30,000 0 30,000
w2013 Z&EE = - SSMM=EUHE HE X
2 30,000,000& 30,000
401 Al HI K 201 I 20,000 20,000 0
04 A2t A Al &I 20,000 20,000 0
m2AE MM EEAMEE EX S
20,000,000& 20,000
talsd X 484,000 353,000 131,000
301 et a3z 3,000 3,000 0
10 HALAHI 242 3,000 3,000 0
S CHR0I& MSEA A AU 24
30,000& x10H 103! 3,000
307 21201 A 466,000 350,000 116,000
02 2ltF & E X 60,000 40,000 20,000
WU It H(3)
30,000,000 30,000
mIgdsd d 24 30,000,000& 30,000
04 QIZHHALE = 406,000 310,000 96,000
mIECLMSUHE (2155, 780¥)
240,000, 000& 240,000
mZENES SLHsl &t 3,000,000& 3,000
WEIRAUET2Y ER0HE W (649)
143,000, 000 143,000




M REH
3 M
@2 Msd

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
mAE M= Hasd 20,000,000 20,000
402 RIZ2EXt20l 15,000 0 15,000
01 IZEXI2 2 X 15,000 0 15,000
mHEMAl IS0k 228 XA
15,000, 000& 15,000
MEHSSH 802,510 773,155 29,355
J| 108,176
< 38,345
Al 655,989
MEHE S AJ 139,568 131,064 8,504
203 YR =2l 1,000 0 1,000
03 A FAH S =AY 1,000 0 1,000
MABHMSHH S4 ALFX
40,000 x5H x53] 1,000
307 glz2+ol & 138,568 131,064 7,504
02 2ltF & E X 138,568 131,064 7,504
WAMAIMEN S AMRI(ISE,2HAH) 2124H]
84,568,000 84,568
mHMAIEEH =3 AHR= 2 20,000,000 20,000
WM IS 2(109)
2,000,000 2,000
mHMAIMEHSE AR U
8,000,000 8,000
mMEHSXNEA ==Y 24,000, 000& 24,000
ME M=l & 150,000 131,000 19,000
307 glz2tol & 150,000 131,000 19,000
04 QIZHSHALE = 150,000 131,000 19,000
mZAEdE MEXHSUHEA I+ 80,000,000 80,000
mECEHR0la MEXNSMS &I 20,000,000 20,000
m2E I =CHE &It 15,000, 000& 15,000
W16 &g e MEHSUH &It
15,000, 000& 15,000
W s Adus dEHSH FIt
20,000, 000& 20,000
MEH=OE 0= 222,000 203,000 19,000
< 5,000
Al 217,000
307 izl & 222,000 203,000 19,000
< 5,000
Al 217,000
02 QI2tFAB X 5,000 5,000 0
mAlZ MEMSUHS XS 5,000,000& 5,000
< 5,000




= _ = s
A - ER(EN) - AR - B of & o4 e
04 QI2HHALE & 217,000
mA142 HMAIEEMSUH2 A
20,000,000& 20,000
WA= SSL26MEZ2) &2 MSEAM
N = 40,000,000& 40,000
mE8el Badr =4 dEMsSUHI HA
20,000,000& 20,000
WA72 AMAIEE 8= ODct2E=203 f
| 12,000,000 12,000
WASHE 8= S KA 4,000,000& 4,000
WAHBE AHMAl HEADT eIl A
10,000,000 10,000
WAHBE HAMAIZI HEHS = HAWME N
Zl 6,000,000& 6,000
mX125 HSHUAHASSIZH dIELIATHE
N = 10,000,000 10,000
mH62 AMAIFEI HEAHNOE=UH2 M=
15,000,000 15,000
EAMAIEH 3= QEE AU W
10,000,000 10,000
MBS XA BHERIEHE JH =
15,000,000 15,000
A2 AMAIZH &= SAUS KA
10,000,000 10,000
WA 138 =MSHSIFI 8= M =2240]
izl JHz 5,000,000& 5,000
mAXOt2HEHE N F 40,000,000& 40,000
HEMSAISAY 24 2,000
< 1,000
Al 1,000
307 ©12+0I & 2,000
< 1,000
Al 1,000
02 el HFAEXR 2,000
WSS HRSAE 29 2,000,000& 2,000
S 1,000
Al 1,000
ZOAM=ES0tel At 31,990
= 15,995
Al 15,995
307 21240 31,990
= 15,995
Al 15,995
02 AAnBHER 31,990
mIe M=Sotel 29 31,990,000& 31,990
< 15,995
Al 15,995




2N nEMs
3 MEE

Sel: MEHSSA (298 R)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
MEHS WA 26,460 26,460 0
< 7,908
Al 18,552

307 glz2tol & 26,460 26,460 0
< 7,908
Al 18,552

02 QIZtFAB X 26,460 26,460 0
mMEIHSNY 2 26,460,000 26,460
= 7,908
Al 18,552

MExsZz I 22,140 22,140 0
< 6,642
Al 15,498

307 21201 A 22,140 22,140 0
< 6,642
Al 15,498

02 2ltF & E X 22,140 22,140 0
mMEHsZZOSHE 23 22,140,000& 22,140
= 6,642
Al 15,498

HEdd=2skEd 41,856 41,856 0
J| 20,928
Al 20,928

307 gl2tol & 41,856 41,856 0
J| 20,928
Al 20,928

02 plZtF A2 X 41,856 41,856 0

LG RSRARSE= g 3 S (E=PNR==DN [ DN|

41,856,000 41,856
J| 20,928
Al 20,928

HYM MEMSANEX X 146,496 146,496 0
J| 73,248
Al 73,248

307 gl2tol & 146,496 146,496 0
J| 73,248
Al 73,248

02 plZtF A2 X 146,496 146,496 0

mMUM MEHSXEZX XA

146,496,000 146,496
J| 73,248
Al 73,248

HMSHHSH ALY 20,000 37,149 17,149
J| 14,000
< 1,800
Al 4,200




CHB . SRA(SA) - ATAY - BES il

ol ® 20,000

Il 14,000

=) 1,800

Al 4,200

FES 20,000

SHR M A 20,000,000& 20,000

Jl 14,000

< 1,800

Al 4,200

= 690,546

o 690,546

et 14,800

3234 14,800

m332= % HAl 4,800

OANZREH 2|l 3323 400,000& 128 4,800

m Al &€ &l = Xl 10,000
OMNZIRQREH AN&EsS R 2 S

10,000,000& 10,000

301 LA F 645,746

o=t - 2s2SELS 642,746

WAE REHd 20 315,395

ozZxl (62328 I&E) 62,310

OoJlzs 3,404,500 x 18 «12& 40,854

O&t 0 =(100%) 40,854,000& x1/12 3,405

OZX=+% 300,000& x1H «12& 3,600

Osd=d 300,000& x1H =123 3,600

ONE=+g 960

LB < &t 40,0002 «1H « 122 480

CIDJIEH S 20,0003 «2H » 12 480

O= a2 Xl 200,000& x1H «12& 2,400

OY&E=FItdl (120%) 40,854,000 %1.2/12 4,086

O2 & =< (100%) 40,854,000& x1/12 3,405

od=x (72265 J&E 253,085

OJle=s 2,951,100& x5 «12& 177,066

O & 012 (100%) 177,066,000& *1/12 14,756

Ozg=+g 200,000& x5 «12& 12,000

ON&E=4 4,800

L < &t 40,0003 «6H » 12 2,400

CIJIEDES 20,000 x108 122 2,400

Osa 22l 200,000& x5 «12& 12,000

OYEF Ot (120%) 177,066,000 *1.2/12 17,707

O2& =< (100%) 177,066,000& 1/ 12 14,756




SN DSHSD
HH: MRS

Sl NEAI S

SA - FE - BI(EA) - NRAY - By 0l b SSa DS

mHEIHets 300,000& x6H «12& 21,600
m=JtHEd =2 300,000& »2H «12& 7,200
mresds =8 1,000,000& »2H «12& 24,000
mREE 40 AREE= 47,810
OHtHEEZ 396,963,200 *3.0/100 11,909
OLEEEE 396,963,200 *1.4/100 5,558
OHLEE= 396,963,200 *2.95/100 11,71
oRIEBEZ 11,710,410% *6.55/100 768
O=RH3RE3 396,963,200 *4.5/100 17,864
mEXNHES 396,963,200 *1/12 33,081
mEE JHelEd 2 14,160
ORLIZ 400,000 x6H »2H 4,800
O#KE 700,000 x6 % »2H 8,400
(OF2ES 80,000 «6H x2& ¢l 960
mREE Ha=d & =&l 179,500
othsl =&l 650,000 x103] »8 52,000
o=¢tl 650,000& 108l x 15 97,500
o2l =H MXE=&(30Y) 30,000,000& 30,000

12JIEBE43 3,000 3,000 0

mAYsAAL 28 & FAI 2o X=H|

3,000,000& 3,000

405 TtHabF S| 30,000 30,000 0

01 AL ESFHSH 30,000 30,000 0
WAIEREE &HH P2 30,000
O©=HMRS-X= 15,500
O=HMRS-X= 6,000,000& 2Kl E 12,000
OntAE 1,000,000& =174 1,000
OM g 1,300,000& =14 1,300
o= 1,200,000& =174 1,200
O=H =Hl16=2 3,400
Ozt ENME 3,400,000 14! 3,400
O=H 470= 5,100
OAM¢ 3,500,000 = 1H 3,500
o8 1,000,000& =14 1,000
OFSTR— 600,000 =14 600
O=H colNd=2 3,900
OtAE 1,200, 000& *1H 1,200
OAMe 1,200,000& =174 1,200
o= 700,000 =14 700
(@F==311 ¥ 800,000& =174 800
Octol= X3 300,000& 7 2,100

AL == 2,260,823 7,298,444 A 5,037,621




2N

X ZH
S =

el

A
A

w=H =S 0

SN =25

2MSANE ¢

A

(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
& 200,000
Al 2,060,823
MEHSEAE =4 677,000 4,340,000 A 3,663,000
¥sE2sE 24 100,000 100,000 0
401 Al HIZ 201 Y] 100,000 100,000 0
01 A& HI 100,000 100,000 0
mESE2SY ZE3M 100,000
(OFSPAR=W.| 100,000, 000& 100,000
222 x4 500,000 0 500,000
401 Al &t CHal 500,000 0 500,000
01 A& Hl 500,000 0 500,000
mUREsSE &4 BY EXNMNS
500,000, 000& 500,000
OO0 XA 77,000 0 77,000
401 AIEHI L 2CHEI 77,000 0 77,000
01 A& Bl 77,000 0 77,000
mA2H HJELSs2 & B2F 23017 £X
20,000, 000‘3 20,000
mHHE ASE0S 2sA4E &
20,000,000 20,000
mOtdSES AHOIE=2E #®A WH 7,000,000& 7,000
mOol=S AHOIESE StEA &X
30,000, 000& 30,000
32 =4 870,000 2,140,000 A 1,270,000
& 200,000
Al 670,000
EUIIEMENESSE =4 670,000 1,650,000 980,000
& 200,000
Al 470,000
401 Al HI K 201 I 670,000 1,650,000 980,000
= 200,000
Al 470,000
01 A& HI 668,000 1,579,200 A 911,200
mEEIIEMENsEIE =4 668,000, 000& 668,000
& 199,400
Al 468,600
03 A& =2 THHI 2,000 5,200 A 3,200
mMESIISUENSSE =48 AERUHI
2,000,000 2,000
= 600
Al 1,400
SIEESEAXLXER 24 200,000 490,000 290,000
401 Al HIZ 201 8] 200,000 490,000 A 290,000




= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 A& HI 200,000 490,000 A290,000
molEBSEAZIER X4 SA 200,000
O&AMNEH ¥ EXNOHLY 200,000, 000& 200,000
HMESAE 2tel 713,823 818,444 A 104,621
SSHSAIE 375,000 30,000 345,000
401 Al HI K 201 I 375,000 30,000 345,000
01 A& HI 375,000 30,000 345,000
mISHSAE FAE> 20,000, 000& 20,000
mZSHSAE MEIX J2HE dHEL
20,000, 000& 20,000
mYSAE SHXA 2 10,000, 000& 10,000
mMASAE S$Z FSAE EXI(40)
85,000,000 85,000
msE HUAR(DE, HA, 2o4) B
40,000,000 40,000
mEI w2 ot MSAE =4
200,000, 000& 200,000
SUHSAE RXE= 80,000 440,700 A.360,700
401 AIEHI L 201 80,000 438,000 A 358,000
01 A& Bl 80,000 438,000 358,000
msUXSAE R == 20,000, 000& 20,000
SE1S MSAE ZH 2A 10,000, 000& 10,000
mARE FOIMEEHO ALY 50,000
Ox2 MSALE 22 N - 2=
10,000,000& x5 50,000
HEAE SN2+ 30,280 29,180 1,100
201 Let249] 30,280 6,180 24,100
01 At 22l 5,280 180 5,100
m B2 H| 5,280
Oot&E Ot & &I|tE2AL =22
240,000& x 123l 2,880
o=z gstae =2 200,000& »123] 2,400
02 =24l 25,000 6,000 19,000
mE22= & HAl 15,000
OMsANE &Iz, & - dt=Zz2, 28+
g 8 15,000, 000& 15,000
m Al ZH| S X 10,000
O2=s MSALEH S 10,000, 000& 10,000
SO & 2el 228,543 288,564 A 60,021
101 @14 dl 7,543 18,564 A 11,021
04 JIZHHZ2XNHEE S 7,543 18,564 A 11,021




2N
X ZH -
L= B

el

i
Al
Hl

SH =0
SANE =25
SAE 2el

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
motE &HC 2 & 2t 7,543
(Ol =1 39,260 %1731 x10Y 6,675
o4t REE= 6,674,200 *13% 868
206 = Hl 1,000 15,000 214,000
01 MHZ 4l 1,000 15,000 A 14,000
moHE &C & 2e 1,000
O=2 2 Al g 7 1,000, 000& 1,000
401 AIEHI L 2CHYI 220,000 250,000 230,000
01 A& HI 220,000 250,000 230,000
wWEER2sHE ¥ ANMAEZ=0I3T dAEC 22
=9 220,000, 000& 220,000
HH2IZH(REHSDH) 258,867 54,996 203,871
Jl2Zl 107,472 54,996 52,476
JlE&l 107,472 54,996 52,476
201 £B-2d| 36,072 19,596 16,476
01 At 22l 32,472 19,596 12,876
w2 et~ Z | 13,992
OJle MRESHI 3,000 x22H x12& 792
OZN2ZE =EH| 50,000 x22H «12& 13,200
CI=E=gs] 7,0003 x22F 10«12 18,480
02 =24l 3,600 0 3,600
(W Xt& - &EH 3,600
oxg =&MU 300,000& 128 3,600
202 44l 66,000 31,200 34,800
01 = LH YI 66,000 31,200 34,800
m2HEE 220,000 x22F x12& 58,080
w2 =& 30,0003 x22H 12 7,920
203 YR =] 4,200 3,000 1,200
04 NI 4,200 3,000 1,200
w2 AN 2Z (302 016H) 350,000& 128 4,200
204 AR HH| 1,200 1,200 0
01 ¥R A 1,200 1,200 0
muE (52 E2XI2) 100,000& =128 1,200
ol 2 gl 151,395 0 151,395
ol 2AH| 151,395 0 151,395
101 @124 dl 151,395 0 151,395
03 RIAHAZ 2T E =+ 151,395 0 151,395
WABESANZ 28 EX(6Y) 151,395
oJlzs 1,132,730& x6H 123 81,557
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g (LSS
el
= _ — d =
SA - BB B (BA) - MM - BHES Ol &+ o4 e
oOd0= 1,302, 730& *6H x400% 31,266
O=cl=4Hl 19,037
O2A2 Xl 70,0002 +6H 122 5,040
Ons2 2l 100,000 x6H »12& 7,200
OZ E FIty| 1,132, 730& x6H x100% 6,797
OFLZR==Y 46,1203 x150%*6F »2L 122 9,962
OANMZZ2E
5,020 *150%* 10Al 2t <6 H « 12 5,422
O¢trEsgrY 46,1203 +6H x 152 4,151
HREs(LESH) 500,000 500,000
500,000 500,000
500,000 500,000
SdES 500,000 500,000
0ol=ds= 500,000 500,000
w3 300,000
O1997E =& DHE 30098 CHR 0] &f
300,000,000 300,000
FMEII=S 200,000
©2010~2014F , 20094 0HR O] &
200,000, 000& 200,000




